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Slope of a Line

The slope of 2 noavertical Tine is the ratio of vertical change (rise) to O, ¥2)
horizontal change (run) between any two peints on the Tine, If a line ‘V/‘i’
in the coordinate planc passes through points (x,, y,) and (x,. y,), Ox,0 v) 1 rise = y, - y,
then the slope m is "/"‘mn_x:_x‘
o fse _dumgeimy_ Y2 M EaETT - x
run change in x Xy —&” Y

E Slopes of Lines in the Coordinate Plane
: Negative slope: falls from left 0 right, as in ling j

l
| Positive slope: rises from left 10 right, as in fine &

|

Undefined slope: vertical. as in line

Zero slope (slope of 0): horizontal, as in line ¢

Example 1 Find the slope of the line shown.
Lot (x;, ») = (0. 2) and (x,. y,) = (1, 2).

slope = — Write formula for slope.
> P
2 (=) o
=2 "\"4 Substitute.
I =0
=4 Sim fxtﬂ‘;'.
s . i
Practice

Find the siope of the line.
1. | |
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Slope Assignment! NAMIE: . .
1) Find the slope of the lines below.
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2) Find the slope of the lines containing the Jollowing points.

a) (1,5) & (3.12)

b) (-2,1)& (=55

¢) (LN &(-61)

d) (—3.4) & (13,8)

e) (3,-10) & (4.—21)

0 (3.6) & (11,6)

g (11,12) & (1.8)

h) (-2.-1) & (=8,11)

) (—99,38) & (—99,722)
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Horizontal & Vertical Lines name;

|. Graph the points and connect to make a line.
(-1.2), (0, 2), (2, 2), and (5, 2) 1 HE

Ll ]

Il. Find the slope of the line. : HEEONE BE
O — I "i =

- - ' —f—

ll. Which variable seems to be
“stuck” on a particular number? ENENER ' -

Y

IV. Write an equation that would | mEE |
guarantee every y-coordinate is 2. | AR

i

V. Graph the points and connect to make a line.
(-1,2), (-1, 0), (-1, 4), and (-1, -3) )L

|

V1. Find the slope of the line. 2l
uwnde Fnedl |

VII. Which variable seems to be
“stuck” on a particular number? EEED | '
i, = 1 [ i}
VIII. Write an equation that would |
guarantee every x-coordinate is -1.

X=-]
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Algebra I name:
' Horizontal and Vertical Lines

Graph the lines.

1. y=3 2. X=-4
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Write the equation for each line.

7. 8.
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Algebra 1 — McCauley nodes Packet Day 19

Name

What is slope-intercept form?

= b «
ik W
\ b

™ = Slope
Graphing in slope-intercept form:

1. Plot the y-intercept (b) as a point on the y-axis.
2. Plot additional points by using the slope (m)
3. Connect the points with a line

y-inderapt

]}

Example 1: y=2x+1

rmark o point act
| on Y Y-axis

v-intercept =

X ese gt wore points

slope = ] Gl
R when Your Slope is

pu:k e npmber
over |,




Algebra 1 - McCauley

Example 2:

y-intercept =

— 1

slope =

rewmember

y=—x—4

o

Omy

invisible |

Example 4:

y=-2x+3
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Sketch the graph of each linc.

1) y=x-2 2) y=2x
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Identify the slope and y-intercept of the line whose graph is shown.

Block:

Date:

y=mx+b

Worksheet
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Graph the equation.
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Algebra | - Packet Day 21
Slope and Graphs of Linear Equations

Find the slope of each line.
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Find the slope of the linc through each pair of points.
3) (~15, 10), (-6, 16)

Sketch the graph of cach line.
5) y==x~5
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7 2x+ y=-2
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13) x=5
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Write the slope-intercept form of the equation of each line.
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